Example 1

An entity holds investments to collect their contractual cash flows. The funding needs of the
entity are predictable and the maturity of its financial assets is matched to the entity’s
estimated funding needs. The entity performs credit risk management activities with the
objective of minimising credit losses. In the past, sales have typically occurred when the
financial assets’ credit risk has increased such that the assets no longer meet the credit criteria
specified in the entity’s documented investment policy. In addition, infrequent sales have
occurred as a result of unanticipated funding needs. Reports to key management personnel
focus on the credit quality of the financial assets and the contractual return. The entity also

monitors fair values of the financial assets, among other information.

Example 1 Analysis

Although the entity considers, among other information, the financial assets’ fair values from a
liquidity perspective (ie the cash amount that would be realised if the entity needs to sell
assets), the entity’s objective is to hold the financial assets in order to collect the contractual
cash flows. Sales would not contradict that objective if they were in response to an increase in
the assets’ credit risk, for example if the assets no longer meet the credit criteria specified in
the entity’s documented investment policy. Infrequent sales resulting from unanticipated
funding needs (eg in a stress case scenario) also would not contradict that objective, even if

such sales are significant in value.



Example 2

An entity’s business model is to purchase portfolios of financial assets, such as loans. Those
portfolios may or may not include financial assets that are credit impaired. If payment on the
loans is not made on a timely basis, the entity attempts to realise the contractual cash flows
through various means—for example, by contacting the debtor by mail, telephone or other
methods. The entity’s objective is to collect the contractual cash flows and the entity does not
manage any of the loans in this portfolio with an objective of realising cash flows by selling
them. In some cases, the entity enters into interest rate swaps to change the interest rate on

particular financial assets in a portfolio from a floating interest rate to a fixed interest rate.

Example 2 Analysis

The objective of the entity’s business model is to hold the financial assets in order to collect the
contractual cash flows. The same analysis would apply even if the entity does not expect to
receive all of the contractual cash flows (eg some of the financial assets are credit impaired at
initial recognition). Moreover, the fact that the entity enters into derivatives to modify the cash

flows of the portfolio does not in itself change the entity’s business model.



Example 3

An entity has a business model with the objective of originating loans to customers and subsequently
selling those loans to a securitisation vehicle.The securitisation vehicle issues instruments to investors.
The originating entity controls the securitisation vehicle and thus consolidates it. The securitisation
vehicle collects the contractual cash flows from the loans and passes them on to its investors. It is
assumed for the purposes of this example that the loans continue to be recognised in the consolidated

statement of financial position because they are not derecognised by the securitisation vehicle.

Example 3 Analysis

The consolidated group originated the loans with the objective of holding them to collect the
contractual cash flows. However, the originating entity has an objective of realising cash flows
on the loan portfolio by selling the loans to the securitisation vehicle, so for the purposes of its
separate financial statements it would not be considered to be managing this portfolio in order

to collect the contractual cash flows.

Example 4

A financial institution holds financial assets to meet liquidity needs in a ‘stress case’ scenario
(eg, a run on the bank’s deposits). The entity does not anticipate selling these assets except in
such scenarios. The entity monitors the credit quality of the financial assets and its objective in
managing the financial assets is to collect the contractual cash flows. The entity evaluates the
performance of the assets on the basis of interest revenue earned and credit losses realised.
However, the entity also monitors the fair value of the financial assets from a liquidity
perspective to ensure that the cash amount that would be realised if the entity needed to sell
the assets in a stress case scenario would be sufficient to meet the entity’s liquidity needs.

Periodically, the entity makes sales that are insignificant in value to demonstrate liquidity.



Example 4 Analysis

The objective of the entity’s business model is to hold the financial assets to collect contractual
cash flows. The analysis would not change even if during a previous stress case scenario the
entity had sales that were significant in value in order to meet its liquidity needs. Similarly,
recurring sales activity that is insignificant in value is not inconsistent with holding financial
assets to collect contractual cash flows. In contrast, if an entity holds financial assets to meet its
everyday liquidity needs and meeting that objective involves frequent sales that are significant
in value, the objective of the entity’s business model is not to hold the financial assets to collect
contractual cash flows. Similarly, if the entity is required by its regulator to routinely sell
financial assets to demonstrate that the assets are liquid, and the value of the assets sold is
significant, the entity’s business model is not to hold financial assets to collect contractual cash
flows. Whether a third party imposes the requirement to sell the financial assets, or that

activity is at the entity’s discretion, is not relevant to the analysis.

Example 5

An entity anticipates capital expenditure in a few years. The entity invests its excess cash in
short and long-term financial assets so that it can fund the expenditure when the need arises.
Many of the financial assets have contractual lives that exceed the entity’s anticipated
investment period. The entity will hold financial assets to collect the contractual cash flows and,
when an opportunity arises, it will sell financial assets to re-invest the cash in financial assets
with a higher return. The managers responsible for the portfolio are remunerated based on the

overall return generated by the portfolio.

Example 5 Analysis

The objective of the business model is achieved by both collecting contractual cash flows and
selling financial assets. The entity will make decisions on an ongoing basis about whether

collecting contractual cash flows or selling financial assets will maximise the return on the



Example 5 Analysis

portfolio until the need arises for the invested cash. In contrast, consider an entity that
anticipates a cash outflow in five years to fund capital expenditure and invests excess cash in
short-term financial assets. When the investments mature, the entity reinvests the cash in new
short-term financial assets. The entity maintains this strategy until the funds are needed, at
which time the entity uses the proceeds from the maturing financial assets to fund the capital
expenditure. Only sales that are insignificant in value occur before maturity (unless there is an
increase in credit risk). The objective of this contrasting business model is to hold financial

assets to collect contractual cash flows.

Example 6

A financial institution holds financial assets to meet its everyday liquidity needs. The entity
seeks to minimize the costs of managing those liquidity needs and therefore actively manages
the return on the portfolio. That return consists of collecting contractual payments as well as
gains and losses from the sale of financial assets. As a result, the entity holds financial assets to
collect contractual cash flows and sells financial assets to reinvest in higher yielding financial
assets or to better match the duration of its liabilities. In the past, this strategy has resulted in
frequent sales activity and such sales have been significant in value. This activity is expected to

continue in the future.

Example 6 Analysis

The objective of the business model is to maximise the return on the portfolio to meet
everyday liquidity needs and the entity achieves that objective by both collecting contractual
cash flows and selling financial assets. In other words, both collecting contractual cash flows

and selling financial assets are integral to achieving the business model’s objective.



Example 7

An insurer holds financial assets in order to fund insurance contract liabilities. The insurer uses
the proceeds from the contractual cash flows on the financial assets to settle insurance
contract liabilities as they come due. To ensure that the contractual cash flows from the
financial assets are sufficient to settle those liabilities, the insurer undertakes significant buying
and selling activity on a regular basis to rebalance its portfolio of assets and to meet cash flow

needs as they arise.

Example 7 Analysis

The objective of the business model is to fund the insurance contract liabilities. To achieve this
objective, the entity collects contractual cash flows as they come due and sells financial assets
to maintain the desired profile of the asset portfolio. Thus both collecting contractual cash

flows and selling financial assets are integral to achieving the business model’s objective.

Instrument A

Instrument A is a bond with a stated maturity date. Payments of principal and interest on the
principal amount outstanding are linked to an inflation index of the currency in which the

instrument is issued. The inflation link is not leveraged and the principal is protected.

Analysis

The contractual cash flows are solely payments of principal and interest on the principal
amount outstanding. Linking payments of principal and interest on the principal amount
outstanding to an unleveraged inflation index resets the time value of money to a current level.
In other words, the interest rate on the instrument reflects ‘real’ interest. Thus, the interest

amounts are consideration for the time value of money on the principal amount outstanding.



However, if the interest payments were indexed to another variable such as the debtor’s
performance (eg the debtor’s net income) or an equity index, the contractual cash flows are not
payments of principal and interest on the principal amount outstanding (unless the indexing to
the debtor’s performance results in an adjustment that only compensates the holder for
changes in the credit risk of the instrument, such that contractual cash flows are solely
payments of principal and interest). That is because the contractual cash flows reflect a return

that is inconsistent with a basic lending arrangement

Instrument B

Instrument B is a variable interest rate instrument with a stated maturity date that permits the
borrower to choose the market interest rate on an ongoing basis. For example, at each interest
rate reset date, the borrower can choose to pay three-month LIBOR for a three-month term or

one-month LIBOR for a one-month term.

Analysis

The contractual cash flows are solely payments of principal and interest on the principal
amount outstanding as long as the interest paid over the life of the instrument reflects
consideration for the time value of money, for the credit risk associated with the instrument
and for other basic lending risks and costs, as well as a profit margin The fact that the LIBOR
interest rate is reset during the life of the instrument does not in itself disqualify the
instrument. However, if the borrower is able to choose to pay a one-month interest rate that is
reset every three months, the interest rate is reset with a frequency that does not match the

tenor of the interest rate.

Consequently, the time value of money element is modified. Similarly, if an instrument has a
contractual interest rate that is based on a term that can exceed the instrument’s remaining life
(for example, if an instrument with a five-year maturity pays a variable rate that is reset

periodically but always reflects a five-year maturity), the time value of money element is



modified. That is because the interest payable in each period is disconnected from the interest
period. In such cases, the entity must qualitatively or quantitatively assess the contractual cash
flows against those on an instrument that is identical in all respects except the tenor of the
interest rate matches the interest period to determine if the cash flows are solely payments of
principal and interest on the principal amount outstanding. (But see paragraph B4.1.9E for

guidance on regulated interest rates.)

For example, in assessing a bond with a five-year term that pays a variable rate that is reset
every six months but always reflects a five-year maturity, an entity considers the contractual
cash flows on an instrument that resets every six months to a six-month interest rate but is
otherwise identical. The same analysis would apply if the borrower is able to choose between
the lender’s various published interest rates (eg the borrower can choose between the lender’s
published one-month variable interest rate and the lender’s published three-month variable

interest rate).

Instrument C

Instrument C is a bond with a stated maturity date and pays a variable market interest rate.

That variable interest rate is capped.
Analysis
The contractual cash flows of both: (a) an instrument that has a fixed interest rate and

(b) an instrument that has a variable interest rate are payments of principal and interest on the
principal amount outstanding as long as the interest reflects consideration for the time value of
money, for the credit risk associated with the instrument during the term of the instrument and

for other basic lending risks and costs, as well as a profit margin. (See paragraph B4.1.7A)

Consequently, an instrument that is a combination of (a) and (b) (eg a bond with an interest
rate cap) can have cash flows that are solely payments of principal and interest on the principal

amount outstanding. Such a contractual term may reduce cash flow variability by setting a limit



on a variable interest rate (eg an interest rate cap or floor) or increase the cash flow variability

because a fixed rate becomes variable.
Instrument D

Instrument D is a full recourse loan and is secured by collateral.

Analysis

The fact that a full recourse loan is collateralised does not in itself affect the analysis of whether
the contractual cash flows are solely payments of principal and interest on the principal amount

outstanding.

Instrument E

Instrument E is issued by a regulated bank and has a stated maturity date. The instrument pays

a fixed interest rate and all contractual cash flows are non-discretionary.

However, the issuer is subject to legislation that permits or requires a national resolving
authority to impose losses on holders of particular instruments, including Instrument E, in
particular circumstances. For example, the national resolving authority has the power to write
down the par amount of Instrument E or to convert it into a fixed number of the issuer’s
ordinary shares if the national resolving authority determines that the issuer is having severe

financial difficulties, needs additional regulatory capital or is‘failing’.

Analysis

The holder would analyse the contractual terms of the financial instrument to determine
whether they give rise to cash flows that are solely payments of principal and interest on the

principal amount outstanding and thus are consistent with a basic lending arrangement.



That analysis would not consider the payments that arise only as a result of the national
resolving authority’s power to impose losses on the holders of Instrument E. That is because

that power, and the resulting payments, are not contractual terms of the financial instrument.

In contrast, the contractual cash flows would not be solely payments of principal and interest
on the principal amount outstanding if the contractual terms of the financial instrument permit
or require the issuer or another entity to impose losses on the holder (eg by writing down the
paramount or by converting the instrument into a fixed number of the issuer’s ordinary shares)
as long as those contractual terms are genuine, even if the probability is remote that such a loss

will be imposed.

Instrument F

Instrument F is a bond that is convertible into a fixed number of equity instruments of the

issuer

Analysis

The holder would analyse the convertible bond in its entirety. The contractual cash flows are
not payments of principal and interest on the principal amount outstanding because they
reflect a return that is inconsistent with a basic lending arrangement (see paragraph B4.1.7A);

ie the return is linked to the value of the equity of the issuer.

Instrument G

Instrument G is a loan that pays an inverse floating interest rate (ie the interest rate has an

inverse relationship to market interest rates).

Analysis



The contractual cash flows are not solely payments of principal and interest on the principal
amount outstanding. The interest amounts are not consideration for the time value of money

on the principal amount

Instrument H

Instrument H is a perpetual instrument but the issuer may call the instrument at any point and
pay the holder the par amount plus accrued interest due. Instrument H pays a market interest
rate but payment of interest cannot be made unless the issuer is able to remain solvent

immediately afterwards. Deferred interest does not accrue additional interest.
Analysis

The contractual cash flows are not payments of principal and interest on the principal amount
outstanding. That is because the issuer may be required to defer interest payments and
additional interest does not accrue on those deferred interest amounts. As a result, interest
amounts are not consideration for the time value of money on the principal amount

outstanding.

If interest accrued on the deferred amounts, the contractual cash flows could be payments of

principal and interest on the principal amount outstanding.

The following example describes a situation in which an accounting mismatch would be created
in profit or loss if the effects of changes in the credit risk of the liability were presented in other
comprehensive income. A mortgage bank provides loans to customers and funds those loans by
selling bonds with matching characteristics (eg amount outstanding, repayment profile, term

and currency) in the market. The contractual terms of the loan permit the mortgage customer



to prepay its loan (ie satisfy its obligation to the bank) by buying the corresponding bond at fair
value in the market and delivering that bond to the mortgage bank. As a result of that
contractual prepayment right, if the credit quality of the bond worsens (and, thus, the fair value
of the mortgage bank’s liability decreases), the fair value of the mortgage bank’s loan asset also
decreases. The change in the fair value of the asset reflects the mortgage customer’s
contractual right to prepay the mortgage loan by buying the underlying bond at fair value
(which, in this example, has decreased) and delivering the bond to the mortgage bank.
Consequently, the effects of changes in the credit risk of the liability (the bond) will be offset in
profit or loss by a corresponding change in the fair value of a financial asset (the loan). If the
effects of changes in the liability’s credit risk were presented in other comprehensive income
there would be an accounting mismatch in profit or loss. Consequently, the mortgage bank is
required to present all changes in fair value of the liability (including the effects of changes in

the liability’s credit risk) in profit or loss.

In the example in paragraph B5.7.10, there is a contractual linkage between the effects of
changes in the credit risk of the liability and changes in the fair value of the financial asset (ie as
a result of the mortgage customer’s contractual right to prepay the loan by buying the bond at
fair value and delivering the bond to the mortgage bank). However, an accounting mismatch

may also occur in the absence of a contractual linkage.

For the purposes of applying the requirements in paragraphs 5.7.7 and 5.7.8, an accounting
mismatch is not caused solely by the measurement method that an entity uses to determine
the effects of changes in a liability’s credit risk. An accounting mismatch in profit or loss would
arise only when the effects ofchanges in the liability’s credit risk (as defined in IFRS 7) are
expected to be offset by changes in the fair value of another financial instrument. A mismatch
that arises solely as a result of the measurement method (ie because an entity does not isolate
changes in a liability’s credit risk from some other changes in its fair value) does not affect the
determination required by paragraphs 5.7.7 and 5.7.8. For example, an entity may not isolate
changes in a liability’s credit risk from changes in liquidity risk. If the entity presents the
combined effect of both factors in other comprehensive income, a mismatch may occur

because changesin liquidity risk may be included in the fair value measurement of the entity’s



financial assets and the entire fair value change of those assets is presented in profit or loss.
However, such a mismatch is caused by measurement imprecision, not the offsetting
relationship described in paragraph B5.7.6 and, therefore, does not affect the determination

required by paragraphs 5.7.7 and 5.7.8.

For the purposes of this Standard, an entity’s risk management strategy is distinguished from its
risk management objectives. The risk management strategy is established at the highest level at
which an entity determines how it manages its risk. Risk management strategies typically
identify the risks to which the entity is exposed and set out how the entity responds to them. A
risk management strategy is typically in place for a longer period and may include some
flexibility to react to changes in circumstances that occur while that strategy is in place (for
example, different interest rate or commodity price levels that result in a different extent of
hedging). This is normally set out in a general document that is cascaded down through an
entity through policies containing more specific guidelines. In contrast, the risk management
objective for a hedging relationship applies at the level of a particular hedging relationship. It
relates to how the particular hedging instrument that has been designated is used to hedge the
particular exposure that has been designated as the hedged item. Hence, a risk management
strategy can involve many different hedging relationships whose risk management objectives

relate to executing that overall risk management strategy. For example:

(a) an entity has a strategy of managing its interest rate exposure on debt funding that sets
ranges for the overall entity for the mix between variable-rate and fixed-rate funding. The
strategy is to maintain between 20 per cent and 40 per cent of the debt at fixed rates. The
entity decides from time to time how to execute this strategy (ie where it positions itself within
the 20 per cent to 40 per cent range for fixed-rate interest exposure) depending on the level of
interest rates. If interest rates are low the entity fixes the interest for more debt than when
interest rates are high. The entity’s debt is CU100 of variable-rate debt of which CU30 is

swapped into a fixed-rate exposure. The entity takes advantage of low interest rates to issue an



additional CU50 of debt to finance a major investment, which the entity does by issuing a fixed-
rate bond. In the light of the low interest rates, the entity decides to set its fixed interest-rate
exposure to 40 per cent of the total debt by reducing by CU20 the extent to which it previously
hedged its variable-rate exposure, resulting in CU60 of fixed-rate exposure. In this situation the
risk management strategy itself remains unchanged. However, in contrast the entity’s
execution of that strategy has changed and this means that, for CU20 of variable-rate exposure
that was previously hedged, the risk management objective has changed (ie at the hedging
relationship level). Consequently, in this situation hedge accounting must be discontinued for
CU20 of the previously hedged variable rate exposure. This could involve reducing the swap
position by a CU20 nominal amount but, depending on the circumstances, an entity might
retain that swap volume and, for example, use it for hedging a different exposure or it might
become part of a trading book. Conversely, if an entity instead swapped a part of its new fixed-
rate debt into a variable-rate exposure, hedge accounting would have to be continued for its

previously hedged variable-rate exposure.

(b) some exposures result from positions that frequently change, for example, the interest rate
risk of an open portfolio of debt instruments. The addition of new debt instruments and the
derecognition of debt instruments continuously change that exposure (ie it is different from
simply running off a position that matures). This is a dynamic process in which both the
exposure and the hedging instruments used to manage it do not remain the same for long.
Consequently, an entity with such an exposure frequently adjusts the hedging instruments used
to manage the interest rate risk as the exposure changes. For example, debt instruments with
24 months’ remaining maturity are designated as the hedged item for interest rate risk for 24
months. The same procedure is applied to other time buckets or maturity periods. After a short
period of time, the entity discontinues all, some or a part of the previously designated hedging
relationships for maturity periods and designates new hedging relationships for maturity
periods on the basis of their size and the hedging instruments that exist at that time. The
discontinuation of hedge accounting in this situation reflects that those hedging relationships

are established in such a way that the entity looks at a new hedging instrument and a new



hedged item instead of the hedging instrument and the hedged item that were designated
previously. The risk management strategy remains the same, but there is no risk management
objective that continues for those previously designated hedging relationships, which as such
no longer exist. In such a situation, the discontinuation of hedge accounting applies to the
extent to which the risk management objective has changed. This depends on the situation of
an entity and could, for example, affect all or only some hedging relationships of a maturity

period, or only part of a hedging relationship.

(c) an entity has a risk management strategy whereby it manages the foreign currency risk of
forecast sales and the resulting receivables. Within that strategy the entity manages the foreign
currency risk as a particular hedging relationship only up to the point of the recognition of the
receivable. Thereafter, the entity no longer manages the foreign currency risk on the basis of
that particular hedging relationship. Instead, it manages together the foreign currency risk from
receivables, payables and derivatives (that do not relate to forecast transactions that are still
pending) denominated in the same foreign currency. For accounting purposes, this works as a
‘natural’ hedge because the gains and losses from the foreign currency risk on all of those items
are immediately recognised in profit or loss. Consequently, for accounting purposes, if the
hedging relationship is designated for the period up to the payment date, it must be
discontinued when the receivable is recognised, because the risk management objective of the
original hedging relationship no longer applies. The foreign currency risk is now managed within
the same strategy but on a different basis. Conversely, if an entity had a different risk
management objective and managed the foreign currency risk as one continuous hedging
relationship specifically for that forecast sales amount and the resulting receivable until the

settlement date, hedge accounting would continue until that date.



